N = 0l & At & Ml A

2020 & =0l & L BHSI A BT XA It
A XA
=R RTETEE
ool BIRA 2 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
RIEZDNESIn | 2,226,556 1,971,281 255,275
2 275,953
< 13,000
Al 1,937,603
QA 181,695 192,106 210,411
= 35,565
Al 146,130
glas 249 181,695 192,106 210,411
= 35,565
Al 146,130
ol ze| 141,130 159,800 A 18,670
201 et 88,700 88,800 A 100
01 At 22l 65,900 66,000 A 100
OB+t 49,000
oFRUSEZS L=l 24,000,000& 24,000
cQIAARH LBtxFH| 25,000,000 25,000
QLRAEBUNE 2ZAZ 1,000, 000& 1,000
OAES S FH 8,000,000& 8,000
o=l 3,000,000& 3,000
ORlE=+T JtEZN HZI Xz, =22 4,900
oJIEZHN S| Xtz 200,000 12042 2,400
SIEZM =2 2,500,000& 2,500
02 =224l 22,800 22,800 0
o0z22= & HMA 13,000
ol Z22R3 3,000,000& 3,000
cQlZdUelZSSA NETHEA HUH2 TS
10,000, 000& 10,000
Ot 2HA4E & FHIKRAH 5,000,000 5,000
OSEUIALSAAE | 22l
600,000 +8CH 4,800
202 O4dl 10,000 11,000 A 1,000
01 = LHA YI 10,000 11,000 A 1,000
O=A=Z NI 10,000, 000& 10,000
203 R =&l 3,000 3,000 0
03 AIMFAH S Z=ZH| 3,000 3,000 0
OBAAMHIA M BRFA 3,000,000& 3,000
303 L& 3 2,000 2,000 0
01 243 2,000 2,000 0
O3 NHIA 22N & SRF L&
2,000,000& 2,000
403 XSS X201 & 10,430 28,000 A 17,570
02 SO 2SO HSHAHE X 2 &AL H 10,430 28,000 217,570




A XA
HE: OIAAE
ciel: oA 2 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OXHICH =RSEANAEH 25 10,430,000& 10,430
405 RHoHE S HI 27,000 27,000 0
01 AL EFSHSHI 27,000 27,000 0
OS%E A FUSE Y 7Y
17,000, 000& 17,000
OSHsE SFUALIIN(ASASI) 7
10,000, 000& 10,000
AR H&HZHl XI& 13,930 13,960 A 30
= 13,930
201 L2l 12,930 10,960 1,970
= 12,930
01 At 22l 12,930 10,960 1,970
OWd SJl hs& =5 MZE 7002 +2,00004 1,400
= 1,400
oO0a 25 ¢ AE 222 HH WH
600& x10,000H 6,000
= 6,000
O0d g2 AIRE3HI 5,530,000& 5,530
= 5,530
202 oddl 1,000 3,000 A 2,000
= 1,000
01 = LH o4 1l 1,000 3,000 A 2,000
O0A ARA= ol 1,000, 000& 1,000
= 1,000
IRAEIH AIHFX 3,000 3,000 0
201 L2l 3,000 3,000 0
01 At 22l 3,000 3,000 0
OoTEI AN 27 28 S 2
3,000,000& 3,000
IIEAHSEAR 21,635 13,346 8,289
= 21,635
201 L2l 20,135 11,846 8,289
= 20,135
01 At 22l 20,135 11,846 8,289
ONEBZAHSEAR 20,135,000& 20,135
= 20,135
202 odl 1,500 1,500 0
= 1,500
01 =LH Yl 1,500 1,500 0
ONEZAHSEAR 1,500, 000& 1,500
= 1,500
IIEHHSSMR(XRA) 2,000 2,000 0
201 £B-2dH| 2,000 2,000 0




A UAXH D
=R RTETEE
ool BIRA 2 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 2,000 2,000 0
OH=ESUIAASANHEIA EE 2,000,000& 2,000
EXNHE 1,947,581 1,688,735 258,846
= 240,388
< 13,000
Al 1,694,193
EXlztel 1,947,581 1,688,735 258,846
=2 240,388
< 13,000
Al 1,694,193
A& z2e 165,589 164,949 640
101 @124 dl 22,909 22,269 640
04 DIt Z2XEES 22,909 22,269 640
OXNHEHRURA EXRI 22,909
ool 68,7203 x 1 %234 16,081
oFXtr¢ 68,720 x1H x50 3,436
oIt 68,7203 x1H 11 756
oAz S 4UHEEE 20,272,400 x13% 2,636
201 Let2d] 122,680 122,680 0
01 At 22l 114,460 112,460 2,000
O gBt==&H| 11,000, 000& 11,000
oOSgH(S2X =4) 500,000& 500
OXNEZH FHIAY 100,000, 000& 100,000
OSREXNZERAS = 960,000 960
OR&3I(=E8)FHIR AL 2,000,000& 2,000
02 22| 8,220 10,220 £2,000
ONXZE U BNCHAY ANARNES
7,980,000 7,980
OSSEANSTEE HAERX 28 BLSE
240,000& 240
207 A RO 20,000 20,000 0
02 & & 2 20,000 20,000 0
OXNEEE MLt DB = 20,000,000& 20,000
K& TH 2 AFAHS 1,051,000 1,051,000 0
201 Yet2 | 51,000 51,000 0
01 At 22/l 49,500 49,500 0
O et==EH| 4,000,000& 4,000
OZ&EEIGr+2 S 30,000,000& 30,000
O= &l 500,000& 500
OXNEMEMN & FI2 S(3S8)
15,000, 000& 15,000
02 =224l 1,500 1,500 0




COQURAX A

CEXEH
C EXZel (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OXNEMEA =322 1,500, 000& 1,500
301 LPEXF 1,000,000 1,000,000 0
12 JIEtE4 3 1,000,000 1,000,000 0
OXIETHALALY HEHAZ 1,000,000,0002 1,000,000
NETHEALALY =& 171,805 22,000 149,805
= 171,805
201 Let24dy] 171,805 22,000 149,805
= 171,805
01 At 22/l 171,805 22,000 149,805
OXNETE=AN EE =2 171,805, 000& 171,805
= 171,805
HE SAIXIJtetel 141,583 138,000 3,583
= 68,583
Al 73,000
201 LB-2dH| 137,583 132,000 5,583
= 66,583
Al 71,000
01 At 2t 2l 134,583 129,000 5,583
OMLHIE d&5=+=+2 10,000, 000& 10,000
OMNEZSAIKXI S22 108,583, 000& 108,583
= 53,583
Al 55,000
O et H| 15,000, 000& 15,000
= 12,000
Al 3,000
O= &l 1,000, 000& 1,000
= 1,000
02 3323l 1,000 1,000 0
03323 % HMA 1,000, 000& 1,000
03 #HAL2 Z Hl 2,000 2,000 0
OMNSEBAUSIAL RU= 2,000,000& 2,000
202 Odl 2,000 3,000 21,000
= 2,000
01 = LHAYI 2,000 3,000 21,000
O=HEZ NI 2,000,000& 2,000
= 2,000
802 BHEt = JIEF 2,000 2,000 0
03 JIEtErEIE S 2,000 2,000 0
OMNgRg=dR etz 2,000,000& 2,000
SEYHFAAY 22| 89,604 99,076 AN9,472
201 Let24d] 40,645 46,750 26,105
01 At 22l 16,440 25,750 29,310




SH: RIRT D

M EXN#H

el EXl22 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
oOsE=2 HH 5,000,000& 5,000
OB+t 7,000,000& 7,000
odsdHsH ¢ 3,000,000& 3,000
ORAAs =Y 1,440,000 1,440
02 3323l 24,205 21,000 3,205
03322 % HA 1,000, 000& 1,000
OADIEKAIS S8R23 1,205,000 1,205
OEZ2Y tUHAIEdE RAES 22,000,000& 22,000
308 XXM SO0l A 21,959 20,326 1,633
10 3|2 SOHUHSEAEEALS I 21,959 20,326 1,633
O=II=2FEBANAE RAE+= 16,460,000 16,460
OE2YFzA J2k RlE=> 5,499,000 5,499
401 Al Bl 28I 27,000 32,000 A5,000
01 A& HI 27,000 32,000 25,000
OE2YALEE 4X 27,000
ocEZHE X 25,000,000 25,000
oI JMANFHSE AX 2,000,000& 2,000
S24EE 22 315,000 198,710 116,290
201 LBt2E| 60,000 73,710 A13,710
02 23224l 60,000 73,710 A 13,710
o032t B2 AAH |X 29 60,000
CRESUZTEISRANLE ATZEANH FXNES
12,000,000 12,000
CBUHBAAH ATEYNH FANE (601
) 20,000,000& 20,000
cBUHEBALAE SIEYNH RAE=
22,000,000& 22,000
oI5t JAZEHXJANAE ST E=
6,000,000 6,000
207 A RO H| 100,000 0 100,000
02 ™ AR I 100,000 0 100,000
OXXZ== DB WO FE HIAES (16X
100,000, 000& 100,000
405 TtHabF S| 155,000 75,000 80,000
01 et EFSFHSHI 155,000 75,000 80,000
Ozl DolaE S3F4 2 75,000,000 75,000
OSSUEFTLALY 24 AL SN 2
80,000,000& 80,000
Tae 2H9E=2 tHAIE=E &X 13,000 15,000 A 2,000
< 13,000
401 AIEBIZ 28I 13,000 15,000 A 2,000
< 13,000




SH: RIRT D

M EXN#H

¢helr EXZel (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 13,000 15,000 A 2,000
O==2ZE &I 11,000, 000& 11,000
= 11,000
O2JtXN&EFHs B &X 2,000,000& 2,000
< 2,000
A2 (2R XA D) 97,280 90,440 6,840
Jl=&l 97,280 90,440 6,840
Jl234 97,280 90,440 6,840
201 Let24d] 5,000 5,000
01 At 2teltl 5,000 5,000
OB+t 3,000,000& 3,000
O =&l 2,000,000& 2,000
202 oddl 87,360 80,640
01 SLHOYI 87,360 80,640
O2EF I 280,000& 128 »269H 87,360
203 ¥ S =&l 4,920 4,800
04 RENSEHR=LH 4,920 4,800
ORN2IEHRFA 410,000& x12& 4,920




